WEMEEEZ (7vHh—FRIL b,

AT EEKN=1.0)

1. @@= [RHEAREA2I=vE |
2. o= [PE-RP50 - 56DA20f% |

3. #kET (H138)
(REE (EHE2)
(2)7vh—+Fn b

AR
@Y A4 X - AR

@ 1A%y oshiTEE (FEICL 3 UHEE)

GOHBEREEZIHADSRY £ZIF2RAOT > H—FRL b oA

(B)EAEL VESELETOES

()3 @D S BRI bRt

(5)BFF 2 HMA L RBI-AL b AL HHEERE L E TOIESE

4. BEIFE (FEONELUT2ATE#MEAA L TEE)

(1)REAATRE
(2)RE ANERE
(3) 3 A TR
(4)3REFIAE O

(5)7 > h—HRIL kDBl AH

Rb=

Fh-Hg+(W-9.8+Fv)-(L-Lg)

-M 10 7

A=] 78 |mm?= 78 X10°  |m’
He=| 140 |mm= 0.14 m
L=| 954 |mm= 0.954 m
Lg= 375 mm(Lg=L/2)= | 0375 |m

Fh=Kh-W-9.8=[ 2646  |N
Fo=kv-w-98=[ 1323 [N

= 139.9 N

L-Nt

(6)7 v h—HIL kD AUTH Q=Fh/N= 66.2 N
()7 h—FRILCETBRNE
SS400DHE
D3I 0 =Rb/A= MPa <  Ft= 176 MPa
SS400D HE
@ AMFISHE r=Q/A=] 08  |MPa <  Fs= 101 MPa
GBIRE LA EABICE T 554 fis=14ft-167=] 2451  |MPa
@771, fts'=fto & X fts=fts' fts'>ftd & Zfts=ftTH 2D T fis=| 1760  |mPa
(8)7vh—FRIL b+ DHELE
@7 > h—H b ORELE =[BT v H— |
@avsy—toE = 150 |mm= 0.15 m
@FL F DIBAE = 110 |mm= 0.11 m
@ E3|HENE Ta=| 550 N > Rb=| 139.9 |N
HEORIRIELY . Trh—FL R BREEET 2,
MR P OBBEHER, [RERHTERG - BIRH2014EER] 14 3.,
AR EZIET Y H—RILMIOWTORERTETHY ., BRADMEBELXRIETHHOTIEHY £ A,
643 L
P74 L L L L P4 p/a p/a p/a p/a p/a p/a pa p/a p/a p/a p/4 p/4 H = 1 3 0 mm
o — Hg= 140 mm
T < I' 1 L=| 954 |mm
I CDL e <'EI e Lg=| 375 |mm
c 4 4 N ;
303 Le
BIMIEB
ZEEEKAST {ERRH 2024/2/1 THFREES WYNB1-7307 B & -

1/n




WEMEEEZ (7vHh—FRIL b,

AT EEKN=2.0)

1. @@= [RHEAREA2I=vE |
2. o= [PE-RP50 - 56DA20f% |

3. #kET (H138)
(REE (EHE2)
(2)7vh—+Fn b

AR
@Y A4 X - AR

@ 1A%y oshiTEE (FEICL 3 UHEE)

GOHBEREEZIHADSRY £ZIF2RAOT > H—FRL b oA

(B)EAEL VESELETOES

()3 @D S BRI bRt

(5)BFF 2 HMA L RBI-AL b AL HHEERE L E TOIESE

4. BEIFE (FEONELUT2ATE#MEAA L TEE)

(1)BREHAATRE
(2)REHMNERE
(3)BEHAATHES
(4)BREHAINEHRES
(5)7 v h—HL b D3lHkH
(6)7 > h—FILbogARH

()7 h—FL METBIGHE

Rb=

Fh-Hg+(W-9.8+Fv)-(L-Lg)

-M 10 7

A=] 78 |mm?= 78 X10°  |m’
He=| 140 |mm= 0.14 m
L=| 954 |mm= 0.954 m
Lg= 375 mm(Lg=L/2)= | 0375 |m

Fh=Kh-w-9.8=[ 5202 N
Fu=kv-W-98=] 2646 [N

= 199.4 N
Q=Fh/N= 132.3 N

L-Nt

SS400DHE
D3I 0 =Rb/A= MPa <  Ft= 176 MPa
SS400D HE
@t ABISHE T =Q/A= MPa < Fs= 101 MPa
@BIRE TAMERKICRIT 515E fis=14ft-167=] 2437  |MPa
@771, fts'=fto & X fts=fts' fts'>fto & £ fts=ftTHZDT fis=| 1760  |mPa
(8)7vh—FRIL b+ DHELE
@7 > h—H b ORELE =[BT v H— |
@avsy—toE = 150 |mm= 0.15 m
@FL F DIBAE = 110 |mm= 0.11 m
@ E3|HENE Ta=| 550 N > Rb=| 199.4 |N
HEORIRIELY . Trh—FL R BREEET 2,
MR P OBBEHER, [RERHTERG - BIRH2014EER] 14 3.,
FRFABET v H—FRL MOV TOBRERTETHY, EROMERELZRIAETILDOTIEHY £H A,
643 L
P74 L L L L P4 p/a p/a p/a p/a p/a p/a pa p/a p/a p/a p/4 p/4 H = 1 3 0 mm
. +— Hg= 140 |mm
T < I' 1 L=| 954 |mm
I CDL e <'EI e Lg=| 375 |mm
c 4 4 N ;
303 Le
BIMIEB
ZEEHSEAST {ERRH 2024/2/1 THFREES WYNB1-7308 B & -

1/n




